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Instructions to Candidates

1. The Question Booklet containing 50 questions and the OMR answer sheet is given to
you.

2. All questions are compulsory, each question carry one mark.

3. During the examination,

* Read the questions carefully.

* Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not to do any
stray marks on OMR Sheet.

* Ex: Ina question paper if No. 3 is the correct answer for Question No. 20, then darken
in OMR answer sheet shade circle 3 using blue/black ball point pen as follows.

200D @ @ @ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong
and no marks will be given.

5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before
leaving the examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside the
examination hall.

8. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.
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GMAT(K-10)

(Questions 1-2)

Directions : Find the missing number in

the given matrices.

1.

7 9 4
4 3 ?
6 8 9
84 | 108 | 126

1) 12

2) 9

3) 8

4) 7

TRWIND

2.

1. GENERAL MENTAL ABILITY TEST
mmsé WPRT TR IO

@ ) XY
(Z3ne 1-2)

%Jaéédm mseémfg 2
BRCNI 50&32503353& BOWIEROND.

8 17 67
12 15 69
16 22 ?

1) 71

2) 89

3) 98
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(Questions 3-4) (aj%ﬁeéo 3-4)
Directions : Match the numbers in

Column — | with the rules in Column — I BRWldn @ "og-1 TP ﬁogﬁéﬁ@a’g
70g3 — 189S Q0DRNY ed FeoHR0.

-

Column-—1| Column-1I
Zoz3 -1 Zos — I
17 2n’+3
18 2n° -1
57 n+2n
28 n®-3n
15 3n°+ 1

3. Which rule the number 28 follows ? 4. Which number follows the rule
2n®+37?
ﬁoaﬁs 28 o3 S)os’oa’oa’a‘o& - sog%odao nobhsd 2nd + 3 511
wmxamgcs ?
@&ﬁ@:’o:ﬁd ?

1) 2n?—1 1 57
2) 3n® + 1 2) 18
3) n°-3n 3) 17
4) n?+2n 4) 15
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(Question : 5)

In a certain code language, 'tink log se'
means 'fruits are ripe', 'se thao hay tink'
means 'mangoes are not ripe', 'hay se
cue tink' means 'bananas are not ripe'.

Which word in that code language means
‘bananas’ in the following ?

AR O 0
@% : 5)
2,000 T0oBedT HoFRoDY 'tink log se'
0TS 'fruits are ripe', 'se thao hay

tink' 203 'mangoes are notripe', 'hay
se cue tink' 2033 'bananas are notripe'.

B FIPNT OSow JITw) @& Fo0FeST

goR030Q ‘bananas’ ST TSI,
RRBASTI?
1) log
2) thao
3) cue
4) se
(Questions : 6-7) (TBRe 1 6-7)
Directions : Find the wrong number or RN %@@émd Beedodg CERLS

group of letters in the given series.

6. 15, 34, 71, 134, 223, 350

1) 71

2) 134

3) 223

4) 350

ﬁoa%odam&/wgdﬁ@ OO, FOTERONO.

7. ACFJ, DGKP, IMRW, PUAH, YELT

1) YELT
2) PUAH
3) IMRW

4) DGKP
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(Questions 8- 10)

Directions : In the given questions there
are four groups of numbers / pairs of
numbers / group of letters of which three
are alike and one is different. Find the one

which is different.

8. 143246
2)56 352
3)6 8462
478274

10. 1) GAINFUL
2) SECTARY
3) FOUNDER
4) QUADRIC

(Questions 11 -15)

Directions : Complete the following

number/letter/figural series by selecting
from the given choices.
11. 2, 11, 38, ?, 362, 1091

1) 119

2) 121

3) 133

4) 197

O R 0 O 0
@%ﬁ% 8-10)
TRBINYY | B FTINIS @j@”&n’@‘@ﬁ
T, 032 0TT Y 0Tow ﬁogjzsmﬁo/ﬁ\rae@
:fogjesmfo/@idmf MOOTONY DIV
OOTONTI, BRI, YRNTY R 20T

080 FOWOPTZ, TRONTTEI. 2.0T
BT, PTFRNT. PIFONTIYTI, TSR

9. 1) 686,21
2) 1024, 24
3) 2000, 30
4) 2662, 39

(ZBies 11-15)

BRENNEL 1 BRLE BoPHRPOT ©OA

TYNT "o /WBT/WINT JedNIIY,

TRODENNRD.

12. 2160, ?, 72, 18, 6, 3
1) 240
2) 300
3) 360

4) 400
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13. a....bb..... baa...... bbb...

1) aabba

2) bbaab

3) abaab

4) aaabb
14.

1)

15.

aa

4)

17

2)
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(Questions 16 —17)

Directions : Take the given statements
as true and decide which of the
conclusions logically follow from the
statements.

16. Statements:
1. All horses are dogs
2. All dogs are cats
Conclusions:
l. All horses are cats

[I. All cats are horses.
1) Only conclusion | follows
2) Only conclusion Il follows
3) Both conclusions | and Il follow

4) Neither conclusion | nor Il follows

17. Statements:
1. Some apples are mangoes
2. Allmangoes are bananas

Conclusions:

I. Some bananas are apples

Il. Allmangoes are apples

[Il. Some bananas are mangoes
IV. All apples are bananas

1) Only conclusion Il follows
2) Conclusions Il and IV follow

3) Conclusions | and Il follow

4) Conclusions I, Il and lll follow

OO0 0 0
(ZB s 16— 17)

BRWIN © FIT BRLITVT TePINWH B
QO GPONA, CIVW VEIEODTY) S0FE TN
mcmmgcs QOTD AP OA.

16. I3RS
1. QR BTTNAL TN
2. UY TOOWNER aﬁ%oémfo

REIFODNS :
l. &y BDINAR aﬁ%aémfo
. e aﬁﬁ%ﬁﬁm BTN

1) 3em© JF 0D | WDIORST

=

2) 3eT© Jrarod |l oPFORSTI

3) deprodNd | I Il HT0EW
TR
4) D0 | oz Il oShom)TR
VRIOWROY
17. Seodned

1. 305y Beonsd [T TERAW
2. QY mmasagaﬁm DL azva%ﬁ@éo

QEVETOBNL ¢

l. o) m@%s&%ﬁ%ﬁo LGN A L=

Il Qo BRIT TENRTR Feeonsd
. 3o m@asa%mfo VRNT TERN
V. agp Feeonsie m%gazva%mﬁo

1) 3e3© Qeerod Il YDROSTI

2) drr o I 2B IV op"oRE:s
3) drorodnied | 303 Il @RS
4) dearodnsd I, 11 @) 1 oHpRoSTI
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(Questions 18 -19)

Directions : In the questions below the
numbers in the figures are related. Identify
their relationship and find the missing
numbers in the given figures.

18.

CORNCEENC)

T ©
19 e e

(Questions 20 - 24)

Directions : Complete the given analogy
by selecting the correct answers from the
alternatives.

20. 147:49::?2:7?
1) 186:66
2) 189:33
3) 198:66
4) 201:33

00 U0 0 0 0
(B> 18- 19)

BRWRN 1 33 9N BT JJNYY,
8 3NYYTD ﬁo&%ﬁ%ﬁo TROOTOZ
ROOTIVI, ARV, 33 BOOTIVI,
3R WSNYY WD BRENTOH
BOBJNTR, TOWERREN0.

29 @®» @)
(48) 3)6
(D

1) 06
2)15

©
©

3)17
? 4)19

(ZBies 20 - 24)

BRWIND amgpm BOSTFORNLOT
pstelosepln emgwm& 30 YN
mmééojsmol TRIETNRDA.

21. 195:15::?:25

1) 575
2) 600
3) 625

4) 650
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22. TPLNR : BXTVZ : : NJFHL : ?

1) VNRTP
2) VRNPT
3) URMPT

4) RVPTN

23.

24.

1) 2) 3) 4)

10
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(Questions 25-27) (JB;nss 25 -27)

Directions : I|dentify the number of  z&033Rrw; : 30R 2Resdds 23319 Beess

specified geometric shapes in the given - - o o oo s =502 s 2omiac
i 3 5 57 ’

diagram and mark the correct answer. o3BT, M.

25. How many triangles are in the given

figure ? 25. 4RLHR PIHY Ty FHENYE ?
1) 21
2) 22
3) 23
4) 24

26. How many rectangles are in the = 27. How many semicircles are in the
given figure ? . .
given figure?

LR BRICHY o BeBIROR 7
HOS G o 8RLIE RICHY o STEIYE 7

1)20

2) 18

16 3) 16
2)8 4)14

3)10
4) 11
11
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(Questions 28 - 29)

28. If > stands for +
< stands for —
v stands for x
A stands for +
» stands for =
Then which one of the following

equations given below is correct ?

00 U0 0 0 0
(B> 28 - 29)

28. > O30 + =53

< O3 — &wT
v O30 x 338
A O30 + &TT
¥ O30 = Wl

B U BRLTT IR 2.0

T6ETe0sy TOCING 2

1) 18 <54 A 27 »9 v45>9

2) 18>54 A 27 v9 #45<9

3) 18>54 % 27<9 V45 A 9

4) 18 $54 <27 A9 >45 V9

29. Which one of the following
equations is NOT meaningful by
substituting the set of given
mathematical signs (=, +, =, x)
sequentially in the given
equations ?

29. FRYTIT NYTW zsweln’e: ned
(=, +, =, %) dﬁo‘i Fomen YN
TWETTRNYY STWedATIN O3
TNCFTR) WHFIRLIFTRNTLRHNY ?

1) 80 +5+4=5x%x4

2)30+2+5=2x10

3) 40 + 10+4=10x6

4) 60 +3+10=6x5

12
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(Questions 30-31) (ag%ﬁeéa 30-31)

Directions : The following questions are = 50338 : &3 29N TIM BRLIT
pa %)

based on the intersecting squares given Se0mT DRI, Tone TS 8T
. . 0 QL =
below in which each square representsa BT MO, o

group.
- Teachers - mmméojada
a
f
d| c - Dancers - &3m0
To@nedy — Singers-| 9 [ ©

30. Which letter represents teachers 30 =@ >modRe =one =.3.M3oS
who are singers and also dancers ? TR TD.0350 s o:ne)ws 0T IR)
TG ) Q )
BRWIHIT ?

2) c
3) b
4) a
31. Which letter represents dancers  31. YVTRFRONTYT & FMOTT> Tene
and singers who are not teachers ? mmmddm& ORE WITH)
BRWTTT ?
1) e
2) d
3) ¢
4) b
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(Question : 32)

Directions : There are five membersin a
family. The comparison of their ages is
as follows :

1. Anju’s age is twice the age of Rama,
but is half the age of Harsha.

2. Balu’s age is half the age of Rama,
but is twice the age of Mala.

Which one of the following pair
represents the oldest and the youngest
members in the family ?

1) Anjuand Mala

2) Harsha and Balu
3) Baluand Rama

4) Harsha and Mala
(Questions 33-34)

Directions : Find the correct mirror
images for the following problem figures
choosing from the alternatives.

33. Problem figures

To0, U

OO0 0 0
(=3, : 32)

=

BRWIN @ 070 FVoWTY 0T
xdxzpmg)d 930 wodaz‘%mf 3ReDE B8
0ed V3T :

1. ¥OWIT som*% TowON womgp
adddeéd. TR TREFS 53033526
@d?d&?’&d.

2. O wojo':}% eIy woﬁo%ﬁ
VPFTUE TN IPUY FTOPAT
NTEILR.

2 BEowEY ©303 WOoH Ty $00H
3BR TR, AeLETHE el 3 $NIYNYY
SR ?

1) ©o WD) B[P
2) BRE WBY, LV
3) P WJ Toww
4) IRF D, TRO

IF i 33-34)

BRUWINE 1 IRLOOT By, WINON
ROCIPT TEWOWBI, TOIIF CPNPOT
BOTLHEONO.

2 (3R (3R (KR (TR
%

14
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34. Problem figures
'E'?%oz W3R

RERIRS

(Question : 35)

35. In a code language CHALK is
written as XSZOP, in the same code
BOARD can be written as :

20T TR0oECST TN CHALK?»&
XSZOP 20T 2333, @Tde Bose3s
%50 BOARD =, &oert 228000050

1) ZLYWI
2) WIZYL
3) YLZIW
4) YIZWL

(Questions 37 — 38)

Directions : Find the missing part of the
given figure from the alternatives.

37.

i LY

2T 1=

(Question : 36)

36. InacodeA=26...... Z=1ifG=25
and MILK = 83 then, find the code
for WATER

20 20833 ZgS A =26 ... Z=1.
G =25 =53 MILK =83 533 WATER®
R08e3TRY, BOTERONO

1) 67
2) 68
3) @
4) 93
(B> 37-38)

BRWSA @ FRWT CFANYY e
TRENTOI T gIMN=, TOITF ODRYOT
BOTLHBONO.

15




GMAT(K-10)
38.

(Questions : 39)

Directions: A sheet of paper in the given
shape is folded as shown in the figures.
Then punched as shown by dots in the
figure. Find how the paper appears when
it is unfolded. Find the correct choice for
the questions using the alternatives.

39.

X X X X

(JBnsd : 39)

BRHWINE : RLTT STTBYTVR 2,00
TN m@ﬁodma B¥INYY B0eONTHHOZ
DORAT. 3036 TOg, [PRBIRTI,
PRINPOTT 83T TROF BRCOAT. wm
m%o&sm a‘:@~mrﬁ BTN IR asaa:a‘d
aomdm THOIREODNG FTCHEOT B0
I N@Oﬁ?&d Wédﬁ?ﬁb .

I-—q
|
| L
v — -—-i
> | .
A L_ o I
| l |
L
[ 2K J [ J [ 2K J [ 2K J ® [ 2K J
1) 2) 3) 4)

16
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(Question : 40)

Directions : There are 25 steps to go to
first floor (excluding the bottom and the
top floor levels)

Ramesh starts climbing up from the 2"
step from bottom level. Suhas starts
coming down from the 4™ step of the
top level.

If both have started moving at the same
time and with the same speed, at which
step they meet counting from the first
step of the top level of first floor ?

00RO 0 O
(|3, : 40)

TRUBIND | O0TION VIR TLRENED
25 HLeoNYE. (I9NT Joe, DT
20093 5@53@371%353 mcawm)

Tehe3 PN BOEIR 2 B0 HYOIT
TS TWTORZTVN. BTTZ 0O
SODYE 4 F0H RLOV0T PO
TRBOR T,

BT DIRURY HH, ADINTY WOTD
TBOPLRS, OBHH IR e
ZRgusch RO Srien Bt
SR HUORY ersonrbeRs 2

17
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(Question : 41)

Directions : A dice is thrown thrice and
its three positions are given below.

Find the opposite pairs of the faces of
the cube.

41.

(Question : 42)

Directions : When the given problem
figure is folded as a cube, identify which
one of the cubes with faces shown below
is possible ?

42,

0 RO T
([3, : 41)

TBRWRNAS : 2,0 mwm& TR IO
DRTION FOLNT T OO m@dﬁ%ﬁ?&l
3RCOT.

FIT ac’oc;; WRINY &".@G@K%”a’od
TOTHLEBOWD.

1) (5,4)(3,1) (2, 6)

3 > 2) (2,5) (4, 1) (3, 6)
6 3) (4,6) (3,5) (2, 1)
4) (2,1) (3, 4) (6, 5)
(33, : 42)
RPN | BRUTIT TTITIE,

FToT 80TT0N WIRATIN, TYNT
TOITFOINT Y BPRCOITID® 03T
RNANEVRT FTIR) mqséésdsgd 9

3) 4)

18
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(Question : 43)

Directions : Amar has some notes of
Rs.10 and Rs. 20. The total number of
notes are 70 and the total amount of
money with him is Rs.1,050. Find the
number of notes of BRs.10 and Rs. 20 with
him.

1) 30and 40

2) 35and 35

3) 40and 30

4) 45and 25

(Questions 44 —45)

Directions: Choose the figure from the
alternatives which is suitable to put the
dot (*) as found in the problem figure.

44. Problem figure

S, U3

(DAL

19

([3, : 43)
BRWINY @ T3 ©ET 10 3. D
20 TR. NY FOF) SLCEVNPRN. 9T WP

2,830 70 IJRCLDNVI D) & BeaT3 008
1,050 Tw. 1. TMES ¥NI ST
AR, 10 Bw. DB 20 Be. NE JRCEDNYES
DOLNTTZ, FOTWBOWO.

1) 30 =3 40
2) 35»H3 35
3) 403v% 30
4) 4533 25

(ZB s> 44 - 45)

BRBIN: : I;DWITTY QIOZOT

2% (+) Cad, THILD ROCIRADE IR,
HOIPFORNOT 0%, TR
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45. Problem figure

(Question : 46)

Directions : In the following questions a
problem figure is given. The problem figure
is hidden in one of the figures given as
alternatives. Find the figure in which the
problem figure is hidden.

46. Problem figure

3) 4)
g% : 46)
BRWRNL 1 B3 IYR BT TIJNYY

200 Tzo, WIP/IW, TRUE. B I,
BT TOIWEOD ¥INYY 3T 2.0T
2883 BN, 0350 TOIEOD 28ITY

Sletaln) @owod?nol FOTWILBOWD.

T

20
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(Questions 47 -48)

Directions: Given below are two matrices
containing two classes of letters. The rows
and the columns of matrix | are numbered
from 1 to 4 and that of Matrix Il from 5t0 8. A
letter from these matrices can be
represented first by its row number and next
by its column number

Ex : S can be represented by

11, 24, 32, 43
1 2 3 4
1 S| A E R
2 R E| A S
3 E S R A
4 A R| S E
Matrix |
m%ﬁ |

47. Which set of numbers will
represent the word REACH ?

o3w Fosdne nrowy REACH &ow
TRT, BAUHIF ?
1) 14, 31, 23, 58,
2) 21, 22, 32, 78,
3) 33, 13, 41, 88,
4) 42, 44, 34, 66,

78
85
57
76

21

OO0 0 0
(ZB e 47 - 48)

TAWRNL 1 83 FTPNIS AT _NFNY
WITNYIRINROT TP INT, 3L
BRF | T T B BOFNYI, 1003
4 IV D) JIwF I D, 5 00T
8 TB/IT ROLJNYOT MTSRT. =T FOD
BE VITBW, VRTLY VTT AL FOL,
BBY WROTW BT FOY ﬁos@esomocﬁ
T RWITLTITN.

SRRSO &ent ARWBIWIVD —
11,24,32,43

5 6 7 8
5 | C H| O
6 C H| O] I
7 o] | C | H
8 H o | I C
Matrix Il
SwgE I

48. Which set of numbers will
represent the word OSIER?

OV T zogssﬂeé neowy) OSIER Qo
BRI, BRI ?

24,
11,
43,
32,

14
21
32
42

77,
87,
76,
68,

31,
34,
44,
22,
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(Question-49)

Directions : Choose which one of the
figures shown in the alternatives will be
formed by joining the given parts of the
figure.

49.

22
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(Question : 50)

Directions : Question below is based on
three statements I, Il and lIl. Decide
whether the data in the statements is
sufficient to find the answer to the given
question.

The comparison of heights of 4 persons
A, B, C and D are as follows :

Statements :
I. Aistallerthan B
[l. Ais shorterthan C

[1l. Cistallerthan D

Question:
To find whether B is taller than D,

1) Data in statement | is sufficient
2) Data in statement Il is sufficient

3) Data in statements I, Il and Il are
sufficient

4) Data in all the statements [, Il and IlI
are not sufficient

([3, : 50)

BRWINW 1 YNNI IF O |, 11, =y I
ﬁe@ﬁmﬁm& BHOAT. TeYINTYTT
BP0 IOIN  FRWB TJ LLITB/IR,
TOWHRONLY TOTMORTIC  DOLVTIZ,
QP OA.

A B,C % D & 4 xs3 2300¢
BReDFoI B 03 BT :

3eOIND ¢
. Ao3® B hos @%dmﬁ@bﬁ
[I. Ao3d C hod 3B ebgdmf\moé

[ll. C o3 D hos agdmﬂw%ﬁ

591 :

B cx» D no3 agdmnmgﬁo&e DO
TOTNLRODED,

@&

1) Tevd | 09T B[P TTRORYT
2) Tewd Il TYT [P TFTMORHID

3) Tewd I Il DB Nl ©QBTYTE
R30I TOTOMOTYT

4) Tewd | Il DB Nl 2QBTITE
R0 E0VR TTNMIHNY

23
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SPRROR RPN

1. 28 L.omr.so. (OMR) ww3s ©&F =) 50 IFRYTT T, HRFOD), AT AeRSNS.
2. QUy BINW 3EIOD, TS T 20T WOTIT.

3. WoeTy WBHODY,

(&l

S T, PNCHTIWOT LO0.

* L2350, (OMR) w3 T TP, 307 B0 TBROWT YOITHI, MVITLY VEBERNTVT ToLY
IINY d@sé "OO3PT YETT %gﬁa‘o% ae@/ﬁ@ ToCNOD IC° TWOCROEF BF® WI0Z, YVTO3RLENR
OB BPA. L), YWITID, JeF [RAT ¢S WBUVONILD WTJTINY WY SRR WINE,
MDA, b.0:37°.50°. (OMR) 903 BEFOH e SPTIRIT.

* 9o : 20 e BIR RO WITH) wody o 3 BNFY L.oRF.wT. (OMR) Ruad &[g 3 W,
Zbe@/%a"% 20 TROWOETF TS LLTOSRENR 5@553% 3T VWP, B3 TSN SROITOZ BOTPRLDF 0N

3020230,

20D 2 @ (@ (@ nwssE =w)

4. 2.0 TFR YITN LOTBYOT THeR), FINYI, DONTY WOTH YWITNYIW, TBOW TONESR WOINTI,

QT WDROY.
5. .2x7.s0°. (OMR) 839 ANng %@d@) VRHE ToNL 3RTB FDeDTITL ITTe Bl BITBLICR.
6. Toesy WTH TWONT J0TT, LWBOAT L30T (OMR) R, 38R HedpsTsOn STT3e LRSI,

7. Toesy BeBROIRYR THELYBWT’, BedT BRSSO, VTFTe @eﬁ?@)@ﬁf YOTBTEONTT, ITLRTRY,

QAREDAT.

8. YNWOT BTJ, WINTY cIpRYTe FIANR NWHRATY BB, WEFOD YONTT CRTOZTE L0ETWOTH

8Poe3eR.

Note : English version of the instructions is printed on the front cover of this booklet.




